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1.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF 20, GET IT REFLACED BY A COMPLETE TEST BOOKLET.

Please note that it i= the candidate’s responsibility to encode and fill in the Roll Number
and Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection.

You have to enter your Roll Numhber an the Test Booklet
the Box provided alongside. DO NOT write anything else on
the Test Booklet.

This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and
English, Each item comprises four responses (answers). You will sclect the response which you
want to mark on the Answer Sheet. In casc you feel that there is more than one correct response,
mark the response which you consider the best. In any case, choose ONLY ONE response for each
item.

You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.
All items carry cqual marks,

Before you proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have to fill in some particulars in the Answer Sheef as per instructions sent to you
with your Admission Certificate.

. After you have completed filling in all your responses on the Answer Sheet and the examinaticn

has concluded, you should hand ever to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS,

(i) There are four alternatives for the answer to every guestion. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty,

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even il one of
the given answers happens to be correct and there will be same penalty as above to that
question,

(i) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that guestion.
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L. If the roots of the equation
Ix? +mx-m=0 are in the ratio pig,

then
[
Vg Yp VI
is equal to
fal O (b} 1
fc) 2 d 3
2. If

J3x2 _7x-30 — Y2%x2 - 7x-5=x-5

has & and @ as its rocts, then the value

of of is
fa) -15 (b -5
{c) O [d s

3 11 _P+E=m and qI.|-.‘F"=]'1,‘ then what
x oy x. b

o equal to?
5

T e g BTG
mp = ng mpg = ng
) DT R
g = ny mpg + g

4 If a’-by-ecz-0, ax-b +ez=0 and
cuc+by—c2=l], then the value of
A o u 4+ b4
a+x b+y ec+z

will be
fal atb+c By 3
fg 1 fd o

5. If the equations x2 pxig=0 and
Ju:z-r-r;u:—p=ﬂ have a common root,

then which one of the following is
correct?

fa) p-g=0 fb) p+g-2=0
fe}] p+g-1=0 (d} p-g-1=0
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6. If x=234273, then the value of
2x3-6x-5is equal to
(a) O (b) 1
fc 2 fd) 3
7. The sum and difference of two
5x?’_x-4 and
x%+09x-10 respectively, The HCF of
the two expressions will be
(@) (x+1) b) (x-1)
(el (3x+7) @ (2x-3)
B. If [s-al+(s-b)+(s-¢c)=5 then the

expressions  are

value of
E—ﬂ]z +(s—b)2 +(s-¢)? + 52
i a?+b? 402
will be
(a) 3 B 1
(e) O d -1
9, If the polynomial
xB4 ;:.-*Jc":-’-~:}:ch'—_vc:2 -x-3
is divisible by (x* - 1), then the value of
,1:-2+q'2 is
@) 1 b 9
fol 10 {d) 13

10. let p and g be non-zero integers.
Consider the polynomial

Alx)=x*+px+gq
It is given that (x - m) and (x - km) are
simple factors of Alx), where m is a
non-zero integer and k is a positive
integer, k = 2. Which one of the following
is correct?

fa) (k+1)*p* =kg
() (k+1)%q=kp?
() k3q=(k+1)p?
(d) k2p®=(k+1)%g



1. 7 wfler k2 +mx+m=0 % 4@ pig 6. a2 x=2340"% & A 2x3-6x-5 % T

F oo 8%, A e, E+Eﬁ;ﬂ# forerr TR 27

Va ‘!p Vi @ © i
A 0 2 @ 3
fa) O B 1

7. 3 ==F. F1 A5 AN AFe FAM: S5x2-x -4

2 d 3 1
& o M x2+9x-10 B W A FTE W
2. If He e (HCF) #1 €mn?
Vax*? —IT_x—EG—'a’IExE-—Tx—5=x—5 fa) (x+1) b (x-1)

&) (3x+7) {d) [2x-3)
% Oe o ¥R B E, Al of #1 WA = E7
8. TR (s—a)+(s-B)+(s ¢c|=s% @

f@) -15 ®) -5
) 0 ) 5 s—a)® +(s-b)? +(s-¢)? + &2
aib?+e?
3. 72 i+3=m ke %+§=n %1 l ;—; F1 9H 1 BT
Toras T 27 (@ 3 fb) 1
0 =
@ TEMa g mptmg " &
mp + ng mp - nq 9. % TET
TR Sl @ T X+ pxd+gxt-x% —x-3
mp — ng mp +nq
(x*-1) & fsg B, @ pleg? W WA
4, 712 GE—&H—M=D, ax -b2icz=0 M T B7
ax-by-c =0%,d fa) 1 (b) 9
x y .. = fc) 10 d 13
+
sl b 10. mA @ p R g Rw s
R 7 EFm? TETW Alx) = x2+ px + ¢ R R S ==
fa) atb+e b} 3 ﬁmﬂ%ﬁ:x—m]aﬁux km), Alx) %
(c) 1 {d © W PAEE §, Tl m F AT S €, k
TF R TF @R k22 31 Frafafea §
5.7  whEm x? pxig=0 3l H w1 o a7
x3igx-p=0 % Uk fE gw@ B, @ fa) (k+1)*p? =kq
- Tofetian # @ FA-w 1w Wi b (b) (k+1)%q="kp?
(@) p-q=0 (o) p+q-2=0 () k2q=(k+1)p?
(c) p+q-1=0 (d) p-gq-1=0 d} k*p* =(k+1)%g
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11. Let m be a non-zero integer and n be a

positive integer, Let R be the remainder
oblained on dividing the polynomial
" +m™ by {x—-m). Then

16. If the sum of the roots of axZ+ bx+c=0

is equal to the sum of the sguares of
their reciprocals, then which one of the
following relations is correct?

fal ab®+ be?=2a2c
{b) ac®+ be=2b4g

(el R=s? for some integer s, if n is fe] ab2+bel=ae
EVEN

fal R is a non-zero even integer
(b) R i= odd, if m is odd

3 ] ] (@) a’+b%+c?-1
fdl R=t" for some integer ¢, if 3

divides n 17. Consider the following statements in
) respect of the cxpression
12. If4*2¥% =128 and 33%32¥- 9% - Q, then 1)
the value of x - y can be equal to S = g
fa} 7 fh} 5 where mn is an integer |
) 3 (d 1 1. There are exactly two wvalues of
n for which 5, = 8561
13. If the linear factors of ax? — (a2 + )x +a 2. 5,=8(,41 and hence for any

integer m, we have two values of
i for which 5, =m.

are p and g, then p+qg is equal Lo

al [x-1}{a+]
e 1 " ) Which of the above stalements isfare

b [x+1){a+1) correct?
) (x-1)a-1) %, L.
(b 2 only
& Lxedlle=1) {c) Both 1 and 2
14, It {e) Neither 1 nor 2

o N 2b +Ja-2b 18. Consider the following statements in
wa+2h - Ja-2h respect of  two  different  non-zero
integers p and g :

then bx? - ax + b is equal to (given that
1. For [p+g) to be less than |(p-q),

R g must be negative,

faf © fbl 1 2, For|p++qgq)to be greater than | p - g,

{c) ab (@) 2ab both p and g must be positive.
Which of the above statements isfare

15. If a® =117+5% and a=3+5, then the correct?

value of a4+ b is | given that o> 0 and faj 1 only

b>0) fhi 2 only

faj 7 fh) 9 fc} Both 1 and 2

fo 11 fdl 13 {d! MNeither 1 nor 2

B-ABPA-P-JRW /54A 4



11. 77 T m ©F AW TF R oo
TEE TF 2| AW @iee R, HWEWS

" m" FW (x-m) A PR sE woam

I9FE B 7

fa) R TF AT FH T B

b) Rfam R ok mfam e

ic) frsht s s & fom R=s? 8, 3R
n'H'FIﬁ_

(@ frh qofs ¢ F o =t 3, 3R 3,
n %1 famfsa Fm &

12, = 4%2¥ = 128 3w 33%3W_oW o}, A
x + y F1 oW FERE e # w27
(@) 7 fb) 5
fg) 3 fdf 1

13. 9% ax?-(a2+)x+a F TE® TEES
p I g%, A p+qfrmE TR
fa) (x-1){a+1)
fb) (x+1){a+1)
fe) (x-1)jla-1)
(d) (x+1)}{a-1)

14. =i
Ja+2b - Ja-23b
X = e— e
Ja+2b -aa=-2b
2, d bx? - ax+ b FwF o #7 (B mn

B rz0)
fa) 0O B 1
fe]  ak {d) 2ob

16. 9 a3 =117+83 3R a=3+b & @
a+b AR TR (R ™ B % a> 030

b=>0.)
(e} 7 ib) 9
fe} 11 fd} 13
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16, 7% ax®+bxtc=0 % yedl # S'g, =k
W#aﬂ#mﬁiw%,ﬁrﬁmﬁﬁﬂ
=l § H AW UE TE R

ja} ab®+ be?=2ac
{b) ac® + be? = 2b%u
¢ ab®ibe?=a’c

(d a2+b2+c2=1

1?.3&%5,;@,%‘[”%%%,%

art § Fr=fefian wual = fem i
1. n % zgm| @ "A §, Fs fou
S, = 861%I

2. S,= 5. ,.q b ol @ wER B s
m % fo7m gt UM % 3 oA R, faees
%U_Snzm%l

I o] §H w0 e A

fa) Fad 1

(b) A 2

(o) 132

(d) AT 1AMAE2

18, % fafim om i p R ¢ F A A
Frfefen ot o faam $ifs .

1. (p+q) ¥ (p-q ¥ %8 8H % fm
q FresF @1 € =g

2. [p+q]ﬁ%{p—q!@m€ﬁ%m
p ¥l g 31 s F F i)

I FA § # FE-E/E T

fa) Faw 1

(b) FEE 2

f¢) 13 2=R

(@ sd1amada
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a b ¢ : ) . P 3
19, If == g then which of the fellowing 23, (mnSE ] _[@555 J Gl 80 b i)
i \C05 357 gin 35
15/are correct? i
1 by d d
I a’+p3:¢ @ fa) -1
2 a’+ b*-c? _a (b} ©
) B2y e?y a2 d
e 1
Select the correct answer using the code
given below. (d 2
fal 1 only
fb) 2 only 24. A cyclist moves non-stop from A to B a
fc) Both 1 and 2 distance of 14 km, at a certain average

speed. If his average speed reduces by
1 km per hour, he takes 20 minutes
20. 79510 i divisible by more to cover the same distance. The

original average speed of the cyolist is

(d) Neither 1 nor 2

fa] 5
B 7 fa) 5 km/hour
fe/ 10 fb) & km/hour
fd) 11

fe) 7 km/hour
21. Let a two-digit number be k times the

sum of its digits. If the number formed fd] None of the above
by interchanging the digits is m times

the sum of the digits, then the value of
25. Il a sum of money at a certain rate of

ke simple interest per year doubles in
1 5 years and at a different rate of simple
fb) 10-k interest per vear becomes three times in
&) 11-k 12 years, then the difference in the two
rates of simple interest per year is

fd)] k-1

22, A man walking at 5 km/hour noticed fa) 2%
that a 225m long train coming in
the cpposite direction crossed him in (b) 3%

O seconds. The specd of the train is
faj 75 kmfhour

g 3ly
(b) 80 km/hour & g
fc) 85 km/hour
(d) 90 km/hour i@ 45%

B-AEPA-P-JRW/54A [



we B/el

e e S b R T

A9 e e 2w R HE I g
(a) F=e 1

(h) HAE 2

(e) 1 3R 2=

@ AT 1A 2

20, 710_5!0 frgd feursy 37

fa] S
Bl 7
fe) 10
fd 11

21. M difse € = i ™ dEm s siE #

Anes H1 kT ) aft dEn % 5w e
% wEEd & &l gEn 9 HE S anea $
m 1A B, @) m 9H w7

fa) 9-k

B 10-k

el 11-k

d k-1

22. T I A 5 fFe Mo /2 i = A = 8y

T F faln fem @ Tt g8 225 e w6
UF Mg 3 0 e Ayl ) B lemel
#1 = 87

fa) 75 T e /g
(b} 80 fifo ia (5
fe) 85 fie Hio gz
fe) 90 fFe die fHa
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: d coany 2
23, [5‘“??1) _[C0855°)"  osin3er e

cos55°)  \sin35°)

= B7
@ -1
) O
(¢ 1

fe) 2

24, TF GEfEE 9EE A® BTE 14 TFe e A

= forn w5 o= fifim ofwm == @ 7@ F@
¥ R I wmE 9w 1 fRe e win wm
= ol R, @ 98 3 @ W o A w
o0 e afts da B 20 wEREE 9
wifirr A = = Rt

(@) 5 TFe e /=2
(b) & foho dlo /a2l
je] 7 e He fmz
id) T W T FE A

25, gft =H wfn wyr = i e ffim

aiffs g1 & 5 98 # 9 T @ T B AR
wuw = A s A @ d 12
el il e o A o e el
241 i =0 § = A B

(@) 2%
(b 3%

fe) 3%%

(d} 4

[F.T.O.



26. Let ABC and A'B'C’ be two triangles 28. Let S be a set of first fourteen natural

in which AB> A'E’, BC= [3'C' and numbers. The possible number of pairs
CA=C'A’, Let D, E and F be the mid- (@, b), where @, be S and a+# b such
points of the sides BC, CA and AB that ab lecaves remainder 1 when
respectively. Let D', E' and F' be the divided by 15, is
midpoints of the sides B'C’, ©°A" and
A'R’ respectively. Consider the following (@ 3
statements
Statemnent I : fb) 5
AD > A'lY, BE > B'E' and CF = C'F’
are always true, fc) 6
Statamient 11 » fd) None of the above
AB?+ BC? ¢+ cA?
AD? 4+ BE2 4+ CF?

P T 29. A clock strikes once at 1 o'clock, twice at
- 2 o'clock and thrice at 3 o'clock, and
A'D'?+ BE?+CF? s0 on. If it takes & seconds to strike at
3 otlock, the time taken by it to strike
at 10 o'clock is

Which one of the following is correct in
respect of the above statements?

ju] Both Statement 1 and Statement 11 (@) 14 seconds
are true and Statement I is the
correct explanation of Statement 1 (b) 16 seconds

{b) Both Statement I and Statement II
are true but Statement 1l is not the je) 18 seconds
correct explanation of Statement I

fc) Statement | is true but Statement 11 {d) MNone of the above
is false

fd) Statement Lis false but Statement 11 30. In a circle of radius 2 units, a diameter

e AR intersects a chord of length 2 units

27. The annual incomes of two persons arc perpendicularly at P. If AP > BP, then

in the ratio 9 : 7 and their expenses are AP is equal to

in the ratio 4 : 3. If each of them saves

¥ 2,000 per year, what is the difference fe) 12+45) units

in their annual incomes?

fa) ¥ 4,000 (b} (2++/3) units

,500 d

G, ¥k fc) (2++2) units

¢l ¥ 5,000

(d) ¥ 5,500 (d) 3 units

B-ABPA-P-IRW/54A 8



26. TH T ABC 3R A'BC @ Bgw B, fad
AB> A'B, BC>B'C 3 cAscA’ B
4 o D, E 3R F®In: g9 BC, CA
3R AB % we-Tig §1 WM wRm DY, R SR
Fo@E: YERT e, CAY ¥R AEF
ner-fag §1 Froafafas s w feam ifsm
T

AD> A'D’, BE>BE’ #n CF>CF’
EHIT | R
e I
AB?*+ BC?+ ca?
AD?% 4 BE2 + op2
_.H;".Ei‘2+B"E.":]!-rl:."gﬂl‘2
T ADZiBE? CcF?

I FyEl & fon fAefefaa § 8 F0-w 0
adl &7

@ F 1 37 ¥ 1 I w3 T 9w
FA 11, F9A 1 51 e = 2

(b) #9413 FF 11 D FE & AN
e 11, Fu 1 37 T8 =men 7 2

(o) YA 1 FeA R A o 1 20 2

(d) 9 1 FGE ¢ wi 7oA 1 5 2

27. T wfedl # @iffs s 0.7 F ogua # 2
Mg 4: 3 F AR T I gk = @
T =4 # 2,000 ol = ==mm }, @ =
At = & @9 s &7

(a) ¥ 4,000
(b) ¥ 4,500
fe) ¥ 5,000
(d) ¥ 5500
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28, W AL S Tee =Ee 99 P = Th g

21 T4l (@, b) F wwif dem w=n ¥, W
a, be S a-b 3 R & ab & 15 8
frafam =00 w Iwa 1w RT

(a) 3

b} 5

fc) 6

fd) T9dw # A =5 T

20, TF TE! 1 ¥ T 0F 91 A9 8, 2 T TG

AN FAA B, 3 T WA = e ¢ el gl
gy 4 aadl wdl ®1 A% 5 7S @ A H
B THE ol &, W 10 =9 3@ 994 # R
T T BT
fa) 14 HHE
(b 16 H=E
(c) 18 ==

() FF A B FG

30. 2 TR g 90 o 9@ § =W AB, 2 T

o o= W P W e wieeslea wa B
Az AP > BP, @ AP e = &7

fa) (2+5) 78
b) (2+3) 7
fc) (2+2) %4
(d) 3 ¥

[P. T, O.



31. Under what condition on p and g, one of 34. Consider the following statements :

T Tofits ol the eyuation x? L 1. FEwvery nalural number is a real
is the sguare ef the other? number,
fa 1+q1q®=3pg 2, Every real number is a rational

number,
3. Every integer iz a real number.
{h) 1+p+p9=.3pq i B
Every rational number is a real

§ " number.
el pi+qtqt =3pg g
(e Which of the above statements are
vorrect?

(d) g°+p+p®=3pg fa) 1,2 and 3
} (b) 1, 3 and 4
32. What is the maximum wvalue of m, if
the number N-90x42x324 %55 is (cf 2 and 3 only
divisible by 3™? #) 3 and 4 only

o 8 35. For what value of k is {x+1) a factor of
b7 x3+-kxg—x+2'?

fc) & ) 4

(dj 3 fbj 3

e} 1
33. A bike consumes 20 mL of petrol per f

kilometre, if it is driven at & speed in the (d) -2
range of 25-50 km/hour and consumes
40 mL of petrol per kilometre at any

; 36. Consider the following statements ;
other speed. How much petrol is

consumed by the bike in travelling a 1. There exists a positive r_e]a] number
distance of 50 km, if the hike is driven m such that cosx =277,
al a speed of 40 km/hour for the 2. mn>m+n for all m, n belonging to
first 10 km, at a speed of B0 km/hour set of natural numbers.
for the next 30 km and at a speed of
30 km/hour for the last 10 km? Which of the above statements isfare
correct?
fa) 1L
fal 1 anly
0 Sk M 2 only
(e} 14 L (c) Doth 1 and 2
fd) 16 L {d] Neither 1 nor 2

B-ABPA-P-JRW 544 10



31. wflF x 2+ px +g =07 TF 73 T T 5A 34, Fefafam waei w Fem Fif

o 23 % R p iR o e TRy 3w | e R O T e e A B
B 2. o e den T T e 2
ja) 1+q+q° = 3pq &

3. g quis o gdlas den o B
4, YR Y e U ATl S v

(b) 1+p+p*=3pq

i) pi+q+q® =3pg 3
[d) g3+ p+p?=3pg TEE O T RS w8
fa} 1,2 ¥R 3
32, A TEM N-90x42x324x55 3™ ® B 1,3 34
favren 8, 91 m W wiftera 5 w0 R7 P e
faf 8 (@) ¥ 3 =i 4
) 7
© 6 35. kxR am H R (x+1), X3+ b x+2
@ 5 I Uk YUHEE 2T
fa) 4
33, TF HEEEEE @ 25-50 fRe HefHm F (b 3
e & el = B =e WA w20 fe fee e 1
o ufe feedim H wga @ 8 PR @ 2

W A Y 99 SR W 40 e Tde daw
ufe fereinien &1 wad B9 B 1 96 AaEntEa

I . o o =i
qet 10 fRo Wie H 40 Fre e /=1 #1 = 36, Tamtwilias syl 7 1

#, w30 FRe die § 60 TFo e fda H 1. T& YATHE gRdlas e m o el
=7 @ 2i 3ifem 10 fRe e § 30 e e/ WAFR R Fcosx=2m"1 B
w1 = | gems e §, W A 2. mnzme+n, 5@ T m, n R PR F
T 50 e He # 70 T w1 7 fFe Tw = ¥ W 3
| @ua g
- e weAl A B Fw-aE w AR
fa} 1 e - o o
(b) 12 e ) ¥ 2
fc) 14 Tae ¢ 1323
[d 16 e (@ A1 IH2
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37. The solution of the inequation 41. Consider the following in respect of

1 1 natural numbers a, h and ¢ :

l+=-—=0 )

X 9 1. LCMjab, ac)=aLCM(b, c)
is ( given that x = 0] 2. HCF{(ab, ac) = a HCF(b, ¢
fa) x>0 3. HCF{a b)<LCM(a, b)

B) x<0 4, HCF(a b) divides LCM(a. b).
B = i ] Which of the above are correct?
|f'|:'_1 1 LT < %€ 1:+-\Il5
2 2

fa) 1 and 2 cnly

Wi s -1-45 nrxa--]+~r5
2

b} 3 and 4 only

38. Which of the points P(5, - 1), Q(3, -2) fo) 1, 2 and 4 only

and R{l, 1] ke in the sclution of the fd) 1,2, 3 and 4

system of inequations x+y=4 and

xX-y227 42. There are three brothers. The sums of
fa] O and R only ages of two of them at a time are

4 yeats, 6 years and B years. The age

(b} Fand R only difference between the eldest and the

fe P oand Q only youngest is
fd) P, Qand R fa) 3 vears
39. A passenger train takes 1 hour less for fb) 4 years
a journey of 120 km, if its speed is
increased by 10 km/hour from its usual fe) 5 years
speed. What is its usual speed? (d) 6 years
fu} 50 km/hour
(b) 40 km/hour 43. A person gocs to a market between
: : 4 p.m. and 5 p.m. When he comes baclk,
fe) 35 kmjhour he finds that the hour hand and
{d) 30 km/hour the minute hand of the clock have
interchanged their positions. For how
40. The value of k, for which the system much time [approximately] was he out
of equations 3x-Kky-20=0 and of his house?
Bx ~ 10y + 40 = 0 has no solution, is
{a) 55-38 minutes
(@) 10
B 6 (b 55-48 minutes
fc) 5 {e)  55-5Y minutes
fd) 32 {dl 5567 minutcs

B-ABPA-P-JRW/54A 12



37. el 1+—L—i2::nﬁ?rﬁw%? (fm
X x

W%ﬁﬁxrﬁ.}

fal x=0

B x<0

fc) _1_{535x5_1+—£
2 2

I|':
(d) xs%g.mxg‘“;‘"’

as, fagalt P(5, -1, Q(3, -2) 3R R(L, 1)
A 492 Fig sehm Fem x+y<q @R
x-yz2% e A e §7
{a) F=E Q#R R
(b) WA PR R
(c) AT PR Q
{d) P, Q3R

39, TF TE wmEl 120 Fre dio A = o 1 g
w7 v wid B, af T um gm 5w A
10 Fee e /9= @8R w1 B TS HHME
=T 1 87

fa) 50 fohe Mo fum
(b) 40 Tho Hio fHE
{c) 35 fHo e o
(d) 30 T o fam

40. k 1 =% WA, Fms fom wiwm P
dx-ky-20=0 3R 6x-10y+40 =0 F
1§ e 441 B, #0187
fa) 10
h) 6
(el S
(d) 3

B-ABPA-P-JRW/S54A 13

41. 9 PR @, b 3N ¢ F forn Fefatad o &=

Hifa
LCM|ab, ael=alCM(b, c)

—t

HCF(ab, ac] = aHCF(h, c)
HCF(a, b)<LCM(a, b)

HCF(a b), LCM(a, b) # fwfm
Al £

Iw O # =H-3 w37
ja) FEE 1 AR 2
(b) FEE 3 34
cf FEA 1, 2 HAT4
d 1,2 334

oW W

42 A T oIS F amg =

dree 4 3, 6 ad @n g 9d B W =2 AR
Tl B1¢ I 5 T A 8T

fa) 37
fboy 4 =8
fc) 5=

(d) &=

43, T =% HF 4 99 € 90 5 99 F 99 gem

W1 % | S T8 59 S R, 79 98 9 2 TR
wdt 3 W f g ol e = g f Tkl
wE # a2d T B v T @ (Fmem) =
fere i @ = Y

fu 5538 famz
(b} 5548 e
fc) 5557 T
{d) 5567 fiz

| B, T. O.



44. In a gathering of 100 people, 70 of them

can speak Hindi, 60 can speak English
and 30 can speak French. Further, 30
of them can speak both Hindi and
English, 20 can speak both Hindi and
French, If x is the number of people
who can speak both English and
French, then which one of the following
is correct? (Assume that everyone can
speak at least one of the three
languages.)

fa) 9 < x <30

fB) D=x=8

fel x=19

@ x=8

45. A cloth merchant buys cloth from a

weaver and cheats him by using a2 scale
which is 10 em longer than a normal
metre scale. He claims to sell cloth at
the cost price to his cuslomers, but
while selling uses a scale which is
10 cm shorter than a normal metre
scale. What is his gain?

fa) 20%
(b} 21%

2
fo) 24—
g (

fd) 23%%

B-ABPA-P-JRW /544
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46. Two pipes A and B can fill a tank

in 60 minutes and 75 minutes
regpectively. There is also an outlet O
If A, B and C are opened together, the
tank is full in 50 minutes. How much
time will be taken by C to cmpty the full
tank?

fa) 100 minutes
fB} 110 minutes
fel 120 minutes

fd) 125 minutes

47. In arace of 1000 m, A beats Bhy 100 m

or 10 seconds. If they starl a race of
1000 m simultaneously from the same
point and if Bgets injured afrer running
ol m less than hall the race length and
due to which his speed gets halved, then
by how much time will A beal B?

ja) 65 seconds
(b} 60 seconds
fe) 50 seconds

{d}] 45 seconds

48. The salary of a person is increased by

10% of his original salary. But he
received the same amount even after
increment. What is the percentage of his
salary he did net receive?

fa) 11%
(b 10%
{e) (100 /11)%

() (90 /11)%



44, 100 =TT 1 UE WYR B H 8 70 =T

et die wee B, GO =TE AN 919 9% @
#n 20 =fF =2 99 w50 §1 595 @9 @,

46. T 90 A ¥w B T 5= F wEE 60 EEe

3 75 fimgz 3 W g% 8| v Taw O W R
af2 A, B &t C vway WA fr wmd, @ =h

T § 30 = ) sl o0 99 9 5 so fir & woll 21 9 3 R C T T
3 a1 20 =afF B 3 = 9E 4 gwd 01 T Frem g9z @my

afé x 3 =) 1 @@ ¢ W et o =

. I B g oy (a) 100 FFE

ug uél }7 (AW ot B wds = dE (b) 110 iz
W11 § A FA-H-FH T A A T 8 )

(c) 120 fmz
(@ 9<x<30 () 125 fomz
(b) O=sx<8& 47. 1000 o @ T A2 F A, BF 100 He W
10 dE 9 Bual B 4R A U @ e
) x=9 1000 Ho # £ UFEY ANY T £ R of
B Bz &1 FAE F 3t # 50 dle x4 a g
x==8

¥ ugw wEe B W 3, Fes F o Sue
= andt # S R, A A, B T wne @

Fmn
45. UF F92 F =AGH gTH A Fo wiem ¢ s () 65 #F2
HEFE Wi A # 10 Feo Hie Tl A H ) 60
WA R g ) HiE S | 9E S A _
F W o4 T OHIS] deA FH SE F g, () 50 #HFe
o = v fm o &l o R R w wsdie

e e T # 10 He e B B IEH

Gk
48, TF A & A4 # Hel ddd 1 10% Fha = Al
i 78| A A IR B W 3@ I+ A I
# ufen e g1 W o F A el ulee
(b) 21% e s g7
(a) 11%
2
fe) 22% (b) 10%
. fe) (100/11)%
by Zg (d) (90/11)%
B-ABPA-P-JRW/54A 15 [P.T. 0.



49. A truck moves along a circular path and

describes 100 m when it has traced oul
36" at the ecentre, The radius of the
circle is equal to

@ Lm
T

B 22 m
k4

@ 22 m
=

) 99
1

50. Two poles are placed at P and O on either

side of a road such that the line joining
Pand @ is perpendicular to the length of
the road. A person moves x metre away
from P parallel to the road and places
another pole at R Then the person
moves furiher x metre in the same
direction and turns and meves a
distance y metre away from the road
perpendicularly, where he finds himself,
¢ and R on the same line. The distance
between F and Q (i.e., the width of the
road) in metre is

() x

(b)

bl

fe)] u

fd) 2y

B-ABPA-P-IRW f54A
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51. Suppose chords AB and CD of a circle

B

intersect at a point P inside the circle.
Two right-angled triangles A'P'E° and
C'Q’'D’ are formed as shown in the
figures below such that AP’ = AP,
BPF =BP, CQ'=CP, D'Q"=DP and
ZAPE = 90F= AC°QD :

Cf
b X B Q'ND'

Which of the following statements are
not correct?

are similar
nesd not he

1. A'PEB' and QD
triangles, but
congruent.

2. A'PEB and C'Q'D' are congruent
trianglcs.

3, A'PE and C'Q'D" are triangles of
same area.

4. A'P'E and C'Q'D’ are rriangles of
same perimeler.

Select the correct answer using the code
given below.

fal 2 and 3 only
B} 1 and 3 only
{c)

1, 2 and 4 only

{d 1,2 3 and 4



40, TF TH IOE U9 W e FY HE T 36°

wEiflEd =9 ™ 100 He Hi g 73 Fa@ B
77 =1 frem e wo &7

(@ 1o

b —

(c) ——

@) 2224

s0. T EESE seHI I R e oW

6 W o 9 R R P #r 0 # e
el @ HES F) WEE W wE B B T
=if TEF F WO P ¥ ox TR @ T €
3R TF 39 P R W A 2 39S 9R 98
=fts st fom # x Wi wee g W ® A
Uk & FeE y T A g T w8 T
a8 gl & Bk de w=d, Q o R A TE W
#opalw Q% 4w fr @t (anfq wzw A
revd) e & T 37

jal x

(b)

e

fcl u

fdl 2y

B-ABPA-P-JRW /544
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51. 71 #if9e wF 59 F A= AB # CD 99 F

sie fig PR I A F| A wm
g AP @i cop AR R fel *
AR T UEH @Al 3 TR AP = AP,
B'P'=BP, C'Q'=CP, D'Q'"=DP N
ZAPB =90 = 200D R

:\ s
* B G’bﬂ'

Frefefaa #yd 1 & 9R-2 5 79 87

1. A'P'B 3 oo wen B & B
sy T & wafmm )

2. A'F'B i crop wEmEn fgw #)

3. A'P'E ¥m C'Q'D' THR E9Ed &
Bgm #1

4. A'PE #n cQD waE dfom F B
E{

= fom o g = wEm w2 wd I g

j@) FaA 2 ¥R 3

(b ¥=a 133

fc) %5d 1, 23 4

fd 1,2 334

[P.T. Q.



52. Suppose ABCig a triangle with AB of unit 55. Let the triangles ABC and DEF be such

length. D and E are the points lying on that £ABC = #DEF, £ACB= ZDFE and
AB and AC respectively such that BC £LBAC = ZEDF. Let L be the midpoint of
and DE are parallel. If the area of BC and M be the midpoint of EF
triangle ABC is twice the area of triangle Consider the following statements
ADE, then the length of AD is

Statement I :
fez) —;— unit Triangles ABL and DEM are similar.

Statement II :

1 2
B = umit Triangle ALC is congruent to triangle
DMF even il AC= DF.

1 %
Ll R Which one of the following is correct in
respect of the above statements?
el i umnit ;
43 fal Both Statement 1 and Statement 11

are true and Statement Il is the

. __— correct explanation of Stalement [
53. A rhombus is formed by joining

midpoints of the sides of a rectangle in "
the “siiitable: prgse. If the. ared af the {b) Both Statement [ and Statement 11

are true but Statement 11 is not the

rhombus is 2 square units, then the ;
correct explanation of Statement I

grca of the rectangle is

fa) 242 square units e} Statement [ is true but Staternent 11
i falzse
B} 4 square units

fd] Statement I is false but Statemnent 11
fl 4.3 gsquare units 18 e
fd) B8 square units

56. The number of rounds that a wheel

54. If each interior angle of a regular polygon of diameter 7/11 metre will make in
i5 140%, then the mumber of vertices of traversing 4 km will be
the polygon is equal to
fa) 500

fa) 10

1000
b 9 ik}
e 8 {e] 1700
(@ 7 (d) 2000

B-ABPA-P-IRW /54A 18
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52. ©H =it fF ABC = v &, Toed AR #
w4 0% 96 8| D3 EF: AR ¥ AC
o7 g yeer e Tigd & 1% BC o' DE s9im
#1 9k Bogw ABC ®1 amvm, Bew ADE ¥
B W1 9 AR, W AD T R

1
fal ¥
1
L

1
(c) Eﬁ‘lﬁ

1

3

goh1d

(dl

53. TF Ama 4 yaed F Aa-Tgdl ) o 39w
FN 7 FEH UE THEgde a9 sl 2 4l
FHEgT W e 2 v R, A s
HaFa = 87

fa) 22 71 3FE
fb) 4 = TFE
fe) 42 = g%
fd) & =W TEIE
S4. 4% T HH GgYA F TAF AAE0 140° ¥, A
TR i ) wen fed T g7
fa) 10
(b) 9
fc) 8

(d) 7

B-ABPA-P-JRW [54A 19

55. wr wife 5 fyw ABC ¥n Bqe DEF

WFR § fF £ABC= ZDEF, ZACE = £DFE
#in £BAC = £EDF %\ ¥F Wi, L, BC %
wea-fig ¥ s M, EF w1 wea-fig R
frferfiaa wumt @ femm i .

eI :

@ ABL ¥R 399 DEM @769 7

=g 1 :

g ALC, fgs DMF % mabmm ®, @& of,
s AC# DF R

b e 3 fom Frfafas # A FRom
¥

(@) Fd 1o owe N oSF ww §osin
FoA 11, wA 1 0 0 =

(b) A 1 ¥R @A 1 a4 @ B AT
FA 11, FF 1w = 79

fc) 94 | drd & ol e 11 50 8

(d) FEE 1 SEE R AR T A

56. 7/11 it =418 % uF ufgn g0 4 e e =

T W WS T W T owe] R e W
AR

(@) SO0
(5) 1000
fc) 1700

(d) 2000

[ E.T. O.



57. The base of an isosceles triangle is 61. A square is inscribed in a right-angled

300 units and each of its equal sides is triangle with legs p and g, and has a
170 units. Then the area of the trangle common right angle with the triangle.
is The diagonal of the squarc is given by
fal 9600 squarc units (a) g
(b) 10000 square units ptiq
fc) 12000 square units
(b 24
{d) None of the above 2p+q
58. Four equal discs are placed such that *ﬁpq

each one touches two others. If the area fef

of empty space enclosed by them is SR
150/847 =square centimetre, then the 9
radius of each disc is egual to fd) }}—E‘
@} 7/6 cm
2/6 cm
o3 62, HX-Ytann=1and Xtan6+Z=1, then
fe} 1/2 em a b , 2:‘:t b
{d) 5/11 em the value of 2— + ¥ is
a3 B2
59. ABCand DEF are similar triangles, If the 5 2
ratic of side AH to side DE is (@) 2sec™8 (b) sec®d
[¥2+1):43, then the ratio of area of
| i - fc) cos? @ fd) 2cos®h
triangle ABC to thal of triangle DEF is c] cos cos

fa) (3-242):3
63. Consider the following :
fb) (9-642):2

= ||l— B
fel  1:(9-642) i ﬁ=cos&fﬁ—cntﬂ

fd) (3+242):2
. i 1||_1+c_uaﬂ = cosecH + cotd
60. A tangent is drawn from an external 1-cesh
point & to a circle of radius 3 units at
P such that OF =4 units. If € is the Which of the above isfare identity/
centre of the circle, then the sine of the identities?
angle COF is
al 1 onl
fa) 4/5 (@ e
) 3/4 flaf 2wy
fej 3/5 {ej Both 1 and 2
fdj 172 {d) MNeither 1 nor 2

B-ABPA-P-JRW/54A 20



57. Tt oafisy fqe =1 smam 300 T ¥
wehl wE gwet 3 A v
170 395 8| s % gmwa =0 37
fa) 9600 % g
b} 10000 T T
fe) 12000 = FTE

(d) 2wl 3 8 A Al

58. 9 G4 dfkEiE] S 36 wHN @ W g
TEIT Al 21 = A w e w )
I FF g UiEE T WA W EEwd
150/847 =01 He Ho 2, M WEF GGEH i
foremn T o &7
fa) 7,6 Ho Hto
(b} 5/6 Ao Mo
fc) 1/2 %o Hte
(d) 5/11 ®e Hie

59. ABC ¥ DEF wweq fnm %1 9 yo aB
S 4s1 DE 1 AW (V2 +1): 43 B, A
e ABC % 9% %1 (7 DEF % #7%a
U #0127
@ (13-242):3
(B} (9-6v2):2
fc) 1:(9-642)

d (3+2+2):2

60. 2 791 % B F 0% 9 F fag P TE T
g 0 @ v wd-tan 38 wn iR SR R
For=agmitizsR gnwm F2 Cc®, A
FU COP F sine 71 87
fa] 4/5
(b} 3/4
() 3/5
d 142

B-ABPA-P-JRW /54A

21

61. p 3R g Yl aF & T g ¥ 0w
A wian s 21 Bgw w5 e, w W
s o &1 2 T fel e o ¥7

P

o =2

Pq

(b) s

\."qu
Pt+q

(e)

2pyg
p+q

(d)

62, ﬂﬁx—!!ta.nﬂ=la?ﬂftanﬂ+-3=li.?h
a b ] b

2 2
"‘2 +¥ momen Ry

a* b2
fa} 2sec*8 (b) sec®@
fc) cos®B (d) 2cos”8

63. Tr=fefae w fan Hifa -

l-coséh

1.
Vi+cosh

= gosccH - cotd

1+cosh
V1-cosH

I § A W weale fedafiend 887
ja) FEE 1

(b) HEH 2
o) 13w 2t
jd) Aa1sRAE2

= cosect +cotd

[P.T.O.



64, If p=cotbitan® and g=acch-cosh, 67. Ina triangle ABCif A- B="2, then C+28
2 2 X ]
then [p2q)* - (g2 p)3 is equal to 2

is equal to
(@ O
Gl =
) 1 3
fe) 2
id) 3 ) =%
4
65. Two observers are stationed due north of
a tower (of height x metre] at a distance ) =
y metre from each other. The angles of
elevation of the tower observed by them
are 30° and 45* respectively. Then x /vy d) =
is egual to
(a) E
2 68, Which of the following is correct
e in respect of  the equation
+3 -1 2 2 :
(k) 3-tan®B=0u(l-3tan” 8)? (Given thail
i is a real number.)
3+l
fc) - 1
2 fa) o F{E 'EJ
d 1
66. If B « E[—w, é (U8, e)
nnszﬂ—3c035+2=l :
sin? @ 1
o fc) D:E(—m, —Ju[S, |
where 0«8 < 3 then which of the 3

1 i 2
following statements is/are corrects i) Nonie of the above

1. There are two values of B satisfying

the above equation, 68, There are five lines in a plane, no two

2. 8=60 is satisfied by the above of which arc parallel. The mazimum
equation. number of peints in which they can
intersect is

Sclect the correct answer using the code
given below.

jal 4
al 1 onl
(e ¥ -
(bl 2 only
fej Both 1 and 2 fej 10
fd) MNeither 1 nor 2 jd} None of the above

B-ABPA-P-JRW /54A 22



64. TiE p=coth +tan® 3N q=scch —cosh &,
@ (%) - (g2 p) T o ¥
fa) 0
jb) 1
fe) 2
fd) 3

65. = U5F UF A (x Hrex F) F Fw oam w
wh-gE By Hie gl WS §1 3= 9
T i dm % S S w300 @
45° B Al x / y Pead auer 27

‘f HJ E

(b} By

fe)

fd 1

66. Ol

cos? 0l - Jcosb+2 1

sin” B
qaﬁ%n-:wg%,mﬁmﬁﬁaﬂwﬁﬁﬁ

-8 ge 2R

1. I o H AR w9, 6 T
T 1

2. B =60 3udw wifrEm @ wEE R
e foo ™o gz = wEE w96 I g
fa) A 1

{b) FEH 2

fcj 1 3R 2 TMI

fdj A1 RaE2

B-ABPA-P-JRW/54A 23

67. us Biys ABCH 3t A-B- % 2, d c+28

e a7

(@) —

(b —

el =

fd)

SR

68. fafafam A #®  =R-m, wiEm

3 tan@=n(l 3tanZ?8) F a0 F T
#7 (Fm o & 6 o v avefEe g B)

a) mz[é, a]

17
AE[—e, — LI, ==
{B) [ 3 | ]

c) -:ce[—m, —;:]u[i’., 20)

(d) g E | FE

69. UF wuad A ula tmrd ¥, e | W of @

AT A 81 3 g &, T W 3 widee
el e, AAftran de w1 Ry

fa) 4
k) 6
fej 10

(d) T H A FE T

[P.T. 0,



Consider a circle with centre alt O and
radius 7 cm., Let QR be a chord of length
2 em and let P be the midpoint of QR
Let € he another chord of this circle
passing through P such that £CFQ
is acute. If M is the midpoint of CD
and MP =424 cm, then which of the
following statements are correct?

1. ZQPD=135"

2. HCP=memand PO =ncm, then m
and n are the roots of the quadratic
equation x* - 10x+1=0,

3. The ratio of the area of triangle OPR
to the area of triangle OMP is 1: 242,

Select the correct answer using the code
given below.

fa) 1 and 2 only

fb) 2 and 3 only

) 1 and 3 only

dl 1, 2 and 3

71. Let ABC be a triangle in which AB= AC.

Let I. be the locus of points X inside or
on the triangle such that BY = CX.
Which of the following statements are
correcl?

1, Lis a straight line passing through
A and in-centre of triangle ABC is
on L.

2, Lis a straight line passing through
A and orthocentre of triangle ABC
18 a point on L.

3. L is a straight line passing through
A and centroid of triangle ABC iz a
point en L.

Select the correctl answer using the code

given below.

fa] 1 and 2 aonly
&) 2 and 3 only
¢} 1l and 3 only
{di 1,2 and 3

B-ABPA-P-JRW [54A
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T2. Consider a circle with centre at C. Let OF,

07} denote respectively the tangents
to the circle drawn from a point O
putside the circle. Let R be a point on OF
gnd S be a point on O such that
OR®SQ=05SxRP. Which of the
[ollowing statements isfare correct?

1. If X is the circle with centre at O
and radius OR, and ¥ is the circle
with centre at O and radius OS
then X =Y.

2. APOC+ £0QC0 =90

Select the correct answer using the code
given below.

{al 1 only

(b} 2 only

fcl Both 1 and 2

(d] MNeither 1 nor 2

73. lf m and n are distinct natural numbers,

then which of the following isfare
integer/integers?
m

1. —+
mn m

2. J'?'.’.r'1|(E+£)E:i'?’|!2 +n?)!
n m

mn

1’?’11z -l'-:l'l2

Select the correct answer using the code
given below,

fal 1 and 2
(B} 2 only
fg 2 and 3

{d] 3 only



70. &3 0 ¥R 7 #o e 5w F ™ 39 W f=n

HifLl A9 iy Qr, 2 o o wHl TH
@ & o WA wif P, or w1 ma-fig ¥
HF Wit CD FOFE R, P ¥ W
qefl, TE ¥ W W™ wFR ¥ B copp
FFm 2 AR M, cD #= ne-fig @ el
MP =23 @c Ha 3, @t Fi=fafaa o §
T -8 A 8

1. Z0PD=135"
2. A CP = m Ho Hle 3 PD = nFe e
2 @ o m sm on fm wlwwm

x%-10x+1=0% 97 &

3. T oPr % dowa = Tgw oMP F
gae § F30E 1: 242 B

A2 2 e g i wa s wdl 3 g

(o) waEd 1 30 2

(b) FEe 2 #N 3

(e} e 1 w3

(d) 1, 23m3

71. 7 @ifsw ABC w fin= &, Wi AB-= AC

B 7M =it faget x @1, 9 6 Fgs o s

41 Tagel 38 wwR § 5 BX = ox R, Ty

L # Talefas woet # & -2 5 77

1. L, AR TR 9 OF WE R o
s ABC = s@HE LW R

2. L, AR TE 9 TF Wa @ g A
= ABC 1 wiEda L W U g R

3. L AR TEG A OF Wa @R oEn
frga Apcwm FE L g

2 faw = w1 W = T I gh

(a) FE@ 1 3w 2

(h) FE@ 2 3N 3

fc) =11 33

(d 1,2 3R 3

B-ABPA-P-JRW f54A
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72. %3 C 99 U% 39 W fomw Sifim) mw fihn

OP, OQF: M ST fg od @ w
w=t Tt wyl-End 2 9m #ifm B, oPpm
g s, ocomm g mmm t &
OR x 5Q = 05 x» RP | fr=fafiag =« 4 2
FH- /8w B/R?

1. =R x, F= o= or=m Em & A
v, q oM Bbmoswmawe @
X=Y%

2. LPOC+.£QCO -9
T T T g W v = ad T gRg
fa) FaE 1

(b) A 2

fe) 1 3 2 <M

fd Ad1ALTH2

73. AR m M n Fm w1 o= §, @ Pl &

2 T/ e &8

1. 1

3|3
=

™
2. ;|rn_i'1(ﬂ+£J[n'12 +n2]']
L m

Frirt

ml':! +H"£

3.

94 T T 5= =1 wEn = ow I =)
fa) 1312

[P.T.O.



74. Outside a meeting room, Madhukar was

told by a person that each meeting
takes place after 13/4 hours. The last
meeting has been over just 45 minutes
ago and the next meeting will take place
at 2 p.m. At what time did Madhukar
receive this information?

f@) 10:20 a.m.
fb} 11:30 am,

fc} 11:40 a.m.

(d) 11:50 a.m.

75. The expenditure of a household for a

certain month is & 20,000, outl of which
¥ 8,000 is spent on education, ¥ 5,900
on food, ¥ 2,800 on shopping and the
rest on perscnal care, What percentage
of expenditure is spent on personal
care?

12%

(a)

b) 165%

fc] 18%

(d) 218%

B-ABFA-P-JRW [54A
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T6.

T7. A circular path

where x, y and = are natural numbers,
then what is z equal to?

@ 1 ) 2
© 3 @ 4

is made from two
concentric eircular rings in such a way
that the smaller ring when allowed to
roll over the circumierence of the bigger
ring, it takes three full revolutions.
If the area of the pathwav is equal to
i times the area of the smaller ring, then
i is equal to
fa) 4

e} 8

(b) &
(d) 10

78. Consider the following statements :

. If n23 and m=23 are distinct
positive integers, then the sum of
the exterior angles of a regular
polvgon of m sides 18 different from
the sum of the exterior angles of a
regular polygon of n sides.

2. Let m, n be integers such that
m>n2z3 Then the sum of the
interior angles of a regular polygon
of m sides is greater than the
sum of the interior angles of a
regular polygon of n sides, and their

sum is (m + n]g.

Which of the above statements is/fare
correct?

fal 1 only

) 2 only

fe} Both 1 and 2
{d) HNeither 1 nor 2



74. W FH F AR CF =T 1 WG F qaq 76. Ik

YR 45% 1374 92 & 4 A ¥ Fe it e

o 9% 45 frle wee @ W g R el W g

SE dSF SHYUG 2 a9 il WY W) 9w yt

a1 fawt v wm g7 A
W x, y 3N z o F B, A 2 e
i

{a) 10:20 TEH fa) 1 k) 2
fo) 3 (d) 4

(b) 11:30 TG 77. UF FHE 99 3 U 99 SeE 9§ 99 THR =
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fa) 12% # sfbs ¢ 3R T Tee [ +n'|;[
2
b) 165% f
e et 3 B SR E WA
fa) &R 1
fc) 18% {b) a2
e} 1 32T
@ 21-8% (d) T FAAE 2
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79. Consider the following statements :

1. There exists a regular polygon
whose exterior angle is 70°.

2. Let nz 5 Then the exterior angle
of any regular polygon of n sides
is acute.

Which of the above statements is/are
correct?

fa)
{b)
fc) Both 1 and 2

{d} Neither 1 nor 2

1 only
2 only

80. In a lrangle POR, point X is on PQ

and point Y is PR such

that XP=1-5 units, XQ =6 units,

FPY =2 units and YR =8 units. Which

ol the following are correct?

1. QR=5XY

2. QR is paralle] to XY.

3. Trangle PYX is similar to triangle
PRQ.

arn

Select the correct answer using Lthe code
given below.

(a)
fh) 2 and 3 only
fo 1 and 3 only
fe] 1, 2and 3

1 and 2 only

81. If a transversal intersects four parallel

straight lines, then the number of
distinct values of the angles formed will
be

(a)

(b) 4
fc}

(d) 16

B-ABPA-P-JRW /B4A
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B2,

A person travels 7 km eastwards and
then turns right and travels 3 km and
further turns right and travels 13 km.
What is the shortest distance of the

present position of the person from his
starting point?

jeij G km
(b} 345 km
fc} 7 km
(d) 445 km

83. ABC iz a lrangle in which D is the

B4,

midpoint of BC and E is the midpoint

of AD. Which of the following statements

isfare correct?

1. The area of triangle ABC iz egual to
four times the area of triangle BED,

2. The area of triangle ADC is twice
the area of triangle BED.

Select the correct answer using the code
given below.

fa)
fb) 2 only

fej Both 1 and 2
fef] MNeither 1 nor 2

1 only

/]

w,
A circle of 3 m radius is divided into
three areas by semicircles of radii 1 m
and 2 m as shown in the fieure above.

The ratio of the three areas A, Band O
will be

fa) 2:3:2
fol 4:3:4

fk) 1:1:1
fd 1:2:1
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85. If E:E_ it e i e
3 Vx

86.

Yy
value of xy is equal to

@) 36
B 24
fc 16

fd} 9

ABC is a triangle right angled at C as
shown in the figure above, Which onc
of the following is correct?

(e) AQ*+ AB? - BP? 4+ PQ?

(b) AQ?+ PQ? = AB* + BP?

) AQ?+ BP? = AB%+ PQ?

id) AQ?+AP? = BK2+ KQ?

B-ABPA-P-JRW /54A
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B7.

In the fgure given above, AD = CD = B,
What is the value of ZCDE?

fa) 32°
(b) 64°
fc) 78°

{d) Cannot be determined
insufficient data

due  to

B8. ABC is an equilateral triangle and X, Y

and Z are the peints on BC, CA and AD
respectively such that BX = CY = AZ.
Which of the following is/are correct?

1. XYZ is an equilateral triangle.

2, Triangle X¥YZ is similar to triangle
ABC. *

Select the correct answer using the code
given below,

fa) 1 only
fb) 2 only
fo) Both 1 and 2

{el) MNeither 1 nor 2



8s5. af X _10_ |¥ g
i J;Eﬂ?x 1] Sﬁ,r'ﬁxyiﬁf
T frms = 27

je) 306
(B 24
fe) 16

{dj 9

B6. A

_..-'—"'""f
_.--""‘—‘f.‘f

B 0 c

ABC F Taqw ®, Trmd Cowmaiu B, Sw
FIW AT Fam d gofen man ) Frsferfioa 4 &
FH-F1 0F FE B

(@) AQ®+AB? = BP*+ po?
(b) AQ?+PQ2 = AB?+ BP?
fe) AQ*+BP? = AB?+ pp?

(dl AQ®+ AP? = BK?+ KQ?
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26*

. /
A T s i

= wfEa e % AD=cD - BCR) ~cDB
F1 = 1 87

(@ 32°
(b B4°
e 78°

(d) qate stFE & wwm Puie 3 Fea

=1 HFaAl

88. ABC TF wralg Fiye & & fagd x, v @ 2

W BC, CA T AB W T w#n & &
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wel v /e

1. Xyz 7% wEng B d)
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= fau Tz W wE = e I g
(a) & 1

b)) e 2

fe} 1 3R 23

(d) a@1ATTH 2
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89.

A

91. The election result in which six parties
contested was depicted by a pie chart.
Party A had an angle 135° on this pie
chart. If it secured 21960 voles, how
many valid votes in total were cast?

(a) 51240
) (b) 58560

In the figure given above, p and g arc
paralle] lines. What are the values of the (e} 78320
angles x, y and 2?7 fe] BT840

92, The mean and median of 5 observations
are 9 and 8 respectively. If 1 is
subtracted from each observation, then

fa) x=8F, y=4F, z=100

fbl x=80° y=50F =z=105 the new mean and the new median
will respectively be
fe] x="T0 y=40f, == 11 fa) 8 and 7
fht 9 and 7
fdj x=60" y=20° =z=120° fe) 8 and ©
jd} Cannot be determined due to
insufficient data
0. Sx-2y= 10 93. The age distribution of 40 children is as
P il follows ;
a _Age [in yvears) | 56 | =7 | 7-8 | 89 [9-10|10-11 |

%g 2x +6y=21 No. of children | 4 7 9 |12 | 6 2 |
=

Consider the following statements in

] 5 respect  of the above [reguency
o] 1 +2 3 4 } distribution :
1. ‘The median of the age distribution
The linear inequations, for which the is 7 years. _ o
shaded area in the figure given above is 2. 70% of the children are in the age
the solution set, are group 6-9 vears,
3. The modal age of the children is
ja) 2x+6y=21, Sx-2y=10 8 years.
Which of the above statements are
{b) 2x+6y<21, Sx-2y=10 correct?
fa] 1 and 2 only
je] 2x+By=21, 5Sx-2y=<10 fb) 2 and 3 only
fol 1 and 3 only
fdl 2x+6y=21, 5x-2y=z10 (d) 1,2 and 3
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91, TF FTE %, fomd vy w@i 4 wm fm, oo
guiE (4id =12) grr b T 3w gaE i
A A T HW 1350 91) IR W 21960 ¥
faet, @ @ o 99 e 2 o 47

(@) 51240

0 e o & p g T Y ) w (b) 58560
X, y 3N z % AN 70 87 (¢ T8320
(d) 87840

ja) x=80° y=-40F, z=100F

92, 5 F& % WA 3w wiferw wEw: o a8 3

2] =Eﬂ"‘, = 5 =1
) x Y=oy e =105 Ife weE Tam B 1 gEE Ww, o |4 v

e} x=70°, y=40, z=11C° e il €, s
fa) 8 3R 7
d) x=60, y=20¢ z=120° B o7
fc) 83RO
(d) AW L & Fm Ruffa 5 fwg @
HeFd
90. .
93. 40 T F) 31g A qea Pl &
g (1 A) 56 | 6-7 | 7-8 | 89 |9-10|10-11
F=a1 & T 4 7 9 12 | 6 2
ITT ARAT Wed % an § Fetatan wad
yi T =Hifsm |
g z ; w2 1 AT
4 Y sl fomd fom e o orfm 1. g = 7R
&3 g0 ke o 1 anfar o 2, ¥ 2. 70%FHGOFF AP T H Y
3. = £ dgesw =@y 8 T R
fal 2x+6y=21, 5x-2y<10 Wﬁﬁﬁﬁﬂ-ﬂ?{—ﬁnﬁ%?
(b) 2x+6y<2l, S5x-2y>10 (o) =@ 1°9E 2
fo} 2x+6yz2l, Sx-2y<10 ] wzame
x+byzll, ox-2y=
() Fa@ 1 33
fd] 2x+6y=21 5x-2y=10 (d) l’zaﬂra
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94, Suppose x; = M for0<i< 10, where A > L 98. The value of the expression

Which one of the following is correct? (243 + 647)? + (243 - 647)°
(a) AM < Median 243 %243 + 647 % 647
s equal to
{b) GM < Median
N— (@ 0 ) 1
@ o - fe) 2 {d 3

d] AM = Median
(4 99, If @ and b are negative real numbers and
¢ is a positive real number, then which

1 d
98, SupposE: X, =? R b=l Sy Syl of the following is/are carrect?

Which one of the following is not 1. a-b<a-c
correct?
' 2. Wa<b, then 2<2,
fa) AM >1/6 ] e ¢
1
(b) GM>1/6 iy
iel] HM=>1/6 Select the correct answer using the code
{d) Median = HM given below.
fa) 1
96. The value of b) 2 only
Llog;q 3125 - 410g,, 2 +1ogy, 32 8 3.anly
2 (d) 2 and 3
" 100.
fa) O
(b) 1
fe] 2
fd} 3
4 b1 AD iz the diameter of a circle with area
= <8 < —, then !
R i 707 m? and AB= BC= CD as shown in
sin® +cosh is equal to the figure abowve. All curves inside
the circle are semicircles with their
@} 1 diameters on AD. What is the cost of
-1 levelling the shaded region at the rate of
fb) — ¥ 63 per square metre?
' (@) & 20,700
(c) 1241 (b) ¥ 22,400
% ) ¥ 14,847
(d) 2 (d) None of the above
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94, T Wi 0<i<10 % faq x, = A7 B, =@ 98, =

A > 1% Faafafan § 4 39 05 o 27 (243 +647)2 + (243 - 647)2
A e | 243x243+647 x 647

. T ?
(b) GM < TfEE o e

fa) 0O (b} 1
(c) GM = mifEde fe) 2 fd) 3
{d) AM = Tl 99, 4R g R b FOTEEF AAREE GEm E e e

U UATE ATt e 8, dl efufae 3

95. TH MR i=1, 2, 3,., 11 % fm x, =2 | F-m /e
? l. a-b<a-c

2| Fisferfiaa § 4 S9-m1 g2 76 27

2, aRa<hd TPy
fa) AM >1/6 il

1 1

(b) GM>1/6 s
el HM=1/6 U, T 2 T T e wE 3 g
(d) W = HM fa} 1

(b) e 2
5 (d) 233
T 7
@ 100, e

() 1 \
@ 2 B
@) 3 \

97, AR tanf +cotd = —— t T o<acl @ A1 [ s wifEa fo 3 gm0 8, AD o
+3 “ 59 @ = R, g9 #1 dEva 707 4 Hle 3
sin 8 +cosf e TR 77 A AB=BC=CD ®| 39 F #m it 9%
fa) 1 wdgw €, o = AD W #1 63 =
Hie 1 = A wifla & 4 g =9 F wa
J3=1
(2} 2 e
(a) ¥ 29,700
() iﬁaﬂ fb) ¥ 22,400
fc ¥ 14,847
fd) ~2 (d) I F A wf
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